
EX anode instructions v1_0_1_2016

INSTRUCTIONS FOR ANODE 
REPLACEMENT (PART # 70076 ZN)

WARNING:
Do not drill through the bottom 
of the threaded hole!

Avoid using thead glue on the 
ends of the bolt to ensure good 
electrical connection

Secure the bolt by using thread glue 
(LocTite #2701 or similar) on the mid-
dle section of the bolt

Remove galvanic corrotion from the 
threaded hole with a drill bit or sharp 
object to establish proper electrical 
connection.

A-A ( 1 : 2 )

A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

1 / 1 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20,000 kg  

Weight

Exturn Thrusters

M8x1.25 - 6
H

56

10

A-A ( 1 : 2 )

A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

1 / 1 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20,000 kg  

Weight

Exturn Thrusters

M8x1.25 - 6
H

56

10

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

2 / 3 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20.000 kg  

Weight

Exturn Thrusters

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

2 / 3 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20.000 kg  

Weight

Exturn Thrusters

Parts required:
 M8 Pin bolt
 M8 Lock nut
 Anode

Tools required:
 Ø M6.8 Drill bit
 M8x1.25 Thread tool
 13mm socket
 Torque wrench

 Thread glue (LocTite 2701 or similar)

1. Find center line of the Exturn thruster and 
mark the location shown in Fig. 1

2. Drill a ø6.8 hole 10mm deep at the marked 
location (Fig. 2). Thread the hole all the way 
down with the M8x1.25 tap.

3. Insert pin bolt (Fig. 3). Use thread glue to 
fasten the bolt securely. 

NB:  Make sure that there is no thread glue 
on the bottom part of the bolt so good 
electrical connection between bolt and 
thruster body is maintained. Use thread 
glue 5mm from the bottom of the bolt and 
upwards!

Tighten pin bolt to 24Nm.

4. Place the anode over the bolt (Fig. 4) and 
attach with lock nut. Tighten the nut to 20Nm. Fig. 1 Fig. 2

Fig. 3 Fig. 4

RETROFITTING ANODE PROTECTION TO AN EXTURN THRUSTER

M8 Pin bolt M8 Lock nut
Anode

Center 
line

If you have a older Exturn model 
without anode protection,  please  
follow the instructions on the next 
page to retrofit an anode! 

Remove galvanic corrotion from the
threaded hole with a drill bit or sharp
object to establish proper electrical
connection.

WARNING!
Do not drill through the bottom
of the threaded hole!

WARNING!
Avoid Locktite on the
ends of the bolt to ensure good
electrical connection.

Secure the bolt by using Locktite
(LocTite #2701 or similar) on the middle
section of the bolt.

If you have a older Exturn model
without anode protection, please
follow the instructions on the next
page to retrofit an anode!

EX Series
(KIT # 4 1190 or only anode # 140295)



EX anode instructions v1_0_1_2016

A-A ( 1 : 2 )

A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

1 / 1 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20,000 kg  

Weight

Exturn Thrusters

M8x1.25 - 6
H

56

10

A-A ( 1 : 2 )

A

A

A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

1 / 1 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20,000 kg  

Weight

Exturn Thrusters

M8x1.25 - 6
H

56

10

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

2 / 3 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20.000 kg  

Weight

Exturn Thrusters

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

 

06.05.2013

1

Designed by Date

2 / 3 
Edition Sheet

R. Hansen
 Material Type Drawing nr

 
Copyright All rights reserved

Part nr Size Scale

Title Mounting anode on 

Tolerance NS-ISO 2768-1

 

SLEIPNER MOTOR AS
A20.000 kg  

Weight

Exturn Thrusters

Parts required:
 M8 Pin bolt
 M8 Lock nut
 Anode

Tools required:
 Ø M6.8 Drill bit
 M8x1.25 Thread tool
 13mm socket
 Torque wrench

 Thread glue (LocTite 2701 or similar)

1. Find center line of the Exturn thruster and 
mark the location shown in Fig. 1

2. Drill a ø6.8 hole 10mm deep at the marked 
location (Fig. 2). Thread the hole all the way 
down with the M8x1.25 tap.

3. Insert pin bolt (Fig. 3). Use thread glue to 
fasten the bolt securely. 

NB:  Make sure that there is no thread glue 
on the bottom part of the bolt so good 
electrical connection between bolt and 
thruster body is maintained. Use thread 
glue 5mm from the bottom of the bolt and 
upwards!

Tighten pin bolt to 24Nm.

4. Place the anode over the bolt (Fig. 4) and 
attach with lock nut. Tighten the nut to 20Nm. Fig. 1 Fig. 2

Fig. 3 Fig. 4

RETROFITTING ANODE PROTECTION TO AN EXTURN THRUSTER

M8 Pin bolt M8 Lock nut
Anode

Center 
line

stud

Locktite

Tap

stud Locktite

Locktite

Locktite

stud

Stud

1. Find center line of the EX thruster and
mark the location shown in Fig. 1

2. Drill a ø6.8 hole 10mm deep at the marked
location (Fig. 2). Thread the hole all the way
down with the M8x1.25 tap.

3. Insert stud (Fig. 3). Use Locktite to fasten the bolt 
securely.

NB: Make sure that there is no Locktite
on the bottom part of the bolt so good
electrical connection between bolt and
thruster body is maintained. Use Locktite 5mm 
from the bottom of the bolt and
upwards!

Tighten stud to 24Nm.

4. Place the anode over the bolt (Fig. 4) and
attach with lock nut. Tighten the nut to 20Nm.

Parts required:

M8 stud
M8 Lock nut
Anode

Tools required:
Ø M6.8 Drill bit
M8x1.25 Tap
13mm socket
Torque wrench

Locktite (LocTite 2701 or similar)

RETROFITTING ANODE PROTECTION TO AN EX THRUSTER


